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Q-3

Q-4

Q-6

Q-7

Q-8

Answer the following questions as directed :

(Each question of 1 mark)
Select the correct alternative from the given :
“Adding Acid & Base solutions in a test tube results to....
(i) The temperature of solution increases.
(i) The temperature of Solution decreases.
(iii) The temperature of the solution remains the same.
(iv) Formation of salt is seen
Alternatives : (A) only (i) correct (B) (i) & (ii) both correct
(C) (i) & (iii) correct (D) (i) & (iv) correct
A Doctor advised a patient for an insulin injection as ...
(A) His blood pressure was low.
(B) His heart beats were low.
(C) He was detected with goitre.
(D) He was detected with high sugar level in blood.

Draw a figure showing the path of ray of light at an angle entering from air to
Water.

What will be the effect caused if all the greenery on earth gets extinct ?
Answer the Following questions as asked.
(Each question of 2 marks)
Differentiate between convex lens & concave lens.
(A) Give scientific reasons :

Curd and citrus food should not be stored in Copper or Brass Vassels.
(B) What is neutralisation ? explain giving examples.

What do you understand by corrosion ? Write any two methods to reduce
corrosion of iron ?

Write Ohms law and also state its S.I. units.
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Q-9
Q-10

Q-1

Q-12

Answer the following questions as required : 9
(Each question of 3 marks)
Describe electrolytic refining of Copper ?

Derive laws of resistance in series so as to explain equivalent resistance of
circuit ?

State various methods by which energy is obtained from sea ; and explain in detalil

any one of them.

Do as Directed. 4
(A) Draw a neat and labelled diagram of a human alimentary canal.

(B) Label the following glands shown in the figure :
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